18/07/2017

vsprodutos para industria Itda.

11-2372-5441
11-98843-3641

vendasi1@vsprod.com.br

Skype: vs.vendas

Lkl &

FTYNTR T

PCR - PARAFUSO CORPO RETIFICADO

|Materia1 ||A(;0 Liga |

%;ﬁ?;zmo Temperado

IDureza 140 + 2 HRC |

Fabricamos itens especiais de acordo com as suas

especificacdes -

TABELA MILIMETRO

[D=Nominal || 6 || 8 | 10 | 12 | 16 | 20 || 25 |
IB = Rosca | M5X0,8 | Mex1 | M8X125 || M10X1,5 || MI2X1,5 || M16X2,0 || M20X2,5 |
|A = Cabega I 100 || 130 || 160 || 180 | 240 || 300 | 360 |
gazézimra 45 5.5 7.0 8,0 10,0 14,0 16,0
IT=Compr.Rosca]| 9,75 | 1125 || 1325 | 1625 || 1825 || 2225 | 2725 |
[W = Chave I 30 || 4 | 5 I 6 | 8 |l 10 || 120 |
|L = Comprimento || |
| 10 VS 6010 | [ I [ [ [ |
| 12 LVS 6012 || VS 8012 | I [ [ [ |
| 16 | vS6016 | VS8016 || VS 10016 || VS 12016 || | | |
| 20 || vS6020 || vS8020 || VS 10020 || VS 12020 | | | |
| 25 | VS 6025 || VS 8025 || VS 10025 || VS 12025 || | | |
| 30 || vS6030 || vS8030 || VS 10030 || VS 12030 | VS 16030 || | |
| 35 | VS 6035 || vS8035 || VS 1035 || vS 12035 | VS 16035 | | |
| 40 | VS 6040 || VS 8040 || VS 10040 || VS 12040 || VS 16040 || VS 20040 || |
| 45 | VS 6045 || VS 8045 || VS 10045 || VS 12045 || VS 16045 || VS 20045 || |
| 50 || VS 6050 || VS 8050 || VS 10050 || VS 12050 | VS 16050 || VS 20050 || VS 25050 |
| I | I | I I I |

http://vsprod.com.br/pcr/pcr.html




18/07/2017

vsprodutos para industria Itda.

| 55 I | vs 8055 || vs10055 || vs12055 || vS 16055 || VS 20055 || VS 25055 |
| 60 | | VS 8060 || VS 10060 | VS 12060 || VS 16060 || VS 20060 || VS 25060 |
| 65 | | vs8065 || VS 10065 | VS 12065 || VS 16065 || VS 20065 || VS 25065 |
| 70 | | vS8070 || VS 10070 | VS 12070 || VS 16070 | VS 20070 || VS 25070 |
| 80 | I || VS 10080 || VS 12080 || VS 16080 || VS 20080 || VS 25080 |
| 90 | | || VS 10090 || VS 12090 || VS 16090 || VS 20090 || VS 25090 |
| 100 | I || VS 100100 || VS 120100 || VS 160100 || VS 200100 || VS 250100 |
| 120 | | || VS 100120 || VS 120120 || VS 160120 || VS 200120 || VS 250120 |

TABELA POLEGADA
Nominal || 174 | 516 | 38 | 12 | 58 | 3/4 |
D |[Imax | 630 || 788 || 947 || 1265 | 158 || 1900 |
[min. | 625 | 784 | 942 || 1260 || 1577 || 1895 |
Imax | 953 || 1,12 || 1427 || 1905 | 2222 || 2540 |

A = Cabeca |—

[min | 907 | 1064 || 1379 || 1852 || 21,67 || 2482 |
B = Rosca | 1024 | 1420 | 501618 || 3816 | 12-13 | 58-11 |
H = Altura |[max | 476 | 556 | 635 || 794 || 953 | 12,70 |
Cabega  |lmin I 449 | 531 | 610 || 767 || 927 || 1245 |
T = Compr. |[méx | 953 || 1,2 || 1270 || 1587 | 1905 || 2222 |
Rosca  |min | 903 | 1062 | 1220 || 1537 || 1855 || 21,72 |
W =ChaveNominal || 3,18 || 397 | 476 | 635 | 79 | 953 |
|Li 0,10 = Comprimento || |
| 3/8 | vses10 | vs7510 | vs9s10 | | | |
| 12 | vses12 | vs7512 || vs9512 || vsi2712 | | |
| 3/4 | vS6520 || vS7520 || vS9520 || vS12720 || VS 15820 || |
| 1 | vse6525 | vs7525 || vs9525 || VS 12725 || VS 15825 | |
| 1.1/4 | vS6530 | vS7530 | vS9530 || VvS12730 || VS 15830 | VS 19030 |
| 1.172 | vS6540 | vS7540 | VS 9540 || VS 12740 | VS 15840 | VS 19040 |
| 1.3/4 | vS6545 | vS7545 | vS9545 || VS 12745 | VS 15845 | VS 19045 |
| 2 | vs6550 | vs7550 || vsS9550 || VS 12750 || VS 15850 | VS 19050 |
| 2.1/4 I I | vs9555 || vs12755 || vs 15855 | VS 19055 |
| 2.1/2 | | | vso9s60 | vsS12760 | VS 15860 | VS 19060 |
| 3" I I | vs9575 || vs12775 || vs15875 | vS19075 |
| 3.1/4 | | | vsos80 || vs12780 | vs 15880 || VS 19080 |
| 3.1/2 I I | vs9590 || vS12790 || VS 15890 | VS 19090 |
| 4 | | | vso95100 || vS 127100 || VS 158100 || VS 190100 |

http://vsprod.com.br/pcr/pcr.html

22



